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Confronta due misure Nome:
Misura lalunghezza di ogni barra siain centimetri chein pallici. Risposte
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Confronta due misure Nome: _Soluzioni
Misura lalunghezza di ogni barra siain centimetri chein pallici. Risposte
Es)
Es(in).
) Es(cm).
1(in). 1
2 em).  2-3
2(in). 1 l/ 2
3 2em). _3-4
3(in). 3
%) sem). _ (-8
4(in). 3,
5) aem). _8-9
5(in). 2 l/ 2
2 sem).  6-7
6(in). 57 2
7)
6cm). 13-14
. 7(in). 2
7cm). 90-6
9 8(in). 4
gem). 10-11
10) o(in). =
ocm). 12-13
10(in). 4 l/ 2
10cm). 11-12
> R




	Worksheet
	Answer Key

